|. Determine the trig ratios. One can be done exactly, and so should be done exactly.
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2. Determune all values for #, where (=

) tan(6) = -1.58

< 360°. Again, if you can answer exactly, do so.




3. Sketch an angle of rotation, in standard position, which has the poipt P(-2,5) At the tip of the
termmal arm. Determine the@ﬁg ratios for that angle of rotatiea-tss T. Determine
the related acute angle. N 3
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4. AROB has £R=40°, b=11cm, r =8cm. Solve the triangle(s).
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5. Determine the value of x: D

1§ L
h & ‘/-M 7 E\IS cm
h: (0.5
g 0 L’;-: Jgf
X
X— = '(7‘; Ve X -
\--"".-.-.-‘-'
S.Hqs/-



6. Express the sketch of the sinusoidal function as a Cosine function, and as a Sine function.

Which do you prefer using?
State the:
M
e max (peak) value 3. g 4.0
¢ the min (trough) value &. & 16'\\ /\\
¢ the equation of the central axis a a * \x / \
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3_ ateve has put a baseball card in the spokes of his bike’s front tire,
As he rides, the tire makes 3 rotations per second. The card starts at

its highest point compared to the ground, at 20 cm., Its lowest point
compared to the ground is 10 cm. Write an equation that models the
height of the baseball card off the ground in terms of time.
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